Math 114 Fall 2005 BONUS Quiz 4
SHOW ALL YOUR WORK

1. (10 points total) The number n of neurons in a human brain is related to the alcohol level a (both of
these are function of age ) by the equation

na® + n2et = constant.

It at a certain age, someone has an alcohol level of zero but is increasing their alcohol level at a rate of 2
grams per month, what is the relative rate of change of the number of neurons in their brain?

1 dn

NOTE: the relative rate of change of n is defined to be — —

n dt
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